EARAROBREBRT —5 XN—ZXBISH—F

2024588318 (£) 204 R7H

NHUSF 28 HE Ei B e
[AXE%) 1 %&:7,200,000  ~ 23#&:2,900,000 "  337%:1,800,000H . 43#&:1,100,000 5 & :720,000
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
<= MLIBLT : -4-4- Eth
1 3| ALYSYTFRI— 42 E@_O%Tr 2.(%3).7 4-4-4-5 |34.7|78.0 | 6 :133) g{g%ﬁ ER)
RiW—5—IvF B:ALYFTIR /=Y ITr—1L
~,= S = 2 | RHEE 2:09.0 4-4-4-2 |35.1| 74.5 | 2 472 | RIEBEAN (R
2188 | HYSARITSVT " 55.0 ® (o) | S4Inv=
RiY—holbF—U7 B:IA)RIALVR #HBIT7— LA
< 7% : 7-7- =R
301]1|PerTYIL 32 %%J N 2(70?:; 7-7-7-8 |34.8| 73.9 | 4 ﬁo) ﬁ’j * (FH)
RIUFPIWAT A= B:04—YT7IKR—5 #H Em
S . _1-1- =7 A{h
4 5 | ROF DT —2Z N o2 E?g R (21039/‘{4) 1-1-1-1 [ 35.7 | 65.4 | 5 (433) T\ggf* ER)
R:FRF B:E—IVI—V EAHERIY R
2 | R 2:09.4 7-7-7-2 | 35.5| 67.6 | 7 402 | SHE GER)
5 6| F—U7IL e 55.0 F9%) (o) | ) BSTLYRIST 5747
RTUYIRTFYRELIIL B4 RL—YIIL EvIUy RI7—L4
== ] e .
6l5ls|HY—F1K 42 Es.oa 2.?19).5 6-6-4-7 |35.4| 68.0 | 1 fis) 2%;%%%)
RiIW—S5—=yvF BA—=IFYT7AT /=Y Tr—I
7177 | /RUI—-=> 2 | BHE 2104 2-2-2-2 | 36.6] 49.9 | 3 z;zs) el G0
RN—EYIv— BROAVITTVUR FFEIHUS
8 4| NvE=ILYF i) E’%Eﬂf 2;(151).3 2-2-2-5 |37.3|38.2| 8 (414) ﬁl;%mz ERR)
RiR—IEIL B:AHFIILYF HOVFIT7—L
[ BN
En'n 48.3-35.0
NOYFA L | 14.5-12.0-13.7-13.5-13.7-13.0-13.3-12.6-11.1-11.3
@ 11— —B&IEfI
13—7— (x2,4,7) (3,8)5-(1,6)
20— — (+2,4,7) (3,8)5-(1,6)
30—7— (+2,4,7) (3,5,8)-(1,6)
43—F— 2(7,8,6) (3,4)5,1
0 ILRE
BB 3 9904 JA R 3-8 600/ 5 & 3-8 1,890 3EE 1-3-8 5,290
B B 3 210M4 1=3 1,370 =51 3-8 4,420 3EH 3-8-1 33,790H
8 150/ 1-8 410
1 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




